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radius (- function ()

{
par(mfrow=c(1,1),pty="s")

plot(c(=1,1),c(=1,1), type='n", axes=F, xlab=

angle (- (0:(10%6))/(10%6)*2%pi
x1 (- cos(angle)/2
y1 {~ sin(angle)/2
lines(x1,y1,col="blue")
x (= rep(0,3)
y (= rep(0,3)
for (i in 0:3) {

x[i+1] (- cos(angle[i*20+1])

yli+1] {~ sin(angle[i*20+11)
}
lines(x, y,)
points(0,0, pch=19)
lines(c(0,x[21),c(0,y[2]))
lines(c(0,cos(pi)/2),c(0,0), col="red", lwd=2)
text(cos(pi)/4,—0.05,"3FX|5", cex=0.7)

text(=0.15, 0.1, labels=expression(frac(pi,2*n)), cex=0.8)

}
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> circle {~
function (points)
{
par(pty='s")
plot(c(=1,1),c(=1,1), type='n", axes=F, xlab="", ylab=""
angle (- (0:(10*points))/(10*points)*2%pi
x1 (- cos(2¥pi/(points*2))*cos(angle)
y1 (= cos(2*pi/(points*2))*sin(angle)
x2 {— cos(angle)
y2 {- sin(angle)
lines(x1,y1,col="blue")
lines(x2,y2)
x {~ rep(0,points)
y {— rep(0,points)
for (i in O:points) {
x[i+1] <= cos(angle[i*10+1])
yli+1] (= sin(angle[i*10+1])
}
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lines(x, y, col="red", lwd=1.7)
}

> par(mfrow=c(2,2))

> circle(3)

> circle(B)

> circle(9)

> circle(12)
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